Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - | « EXAMINATION - WINTER- 2015

Subject Code: 3300005 Date: 07/01/2016
Subject Name: Basic physics (Group- 1)
Time: 02:30 pm to 5:00 pm Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

AU hswWNR

Q.1 Answer any seven out of ten.

ysl 1. Give formula for least count of Vernier Callipers.

L alfar ¥Aualell cmet o Yot cvl.

2. What is the effect of temp. on resistance of semiconductor.
2. ualesell AU GUR dlUMloto(l AR U
3. Define electric potential and it's unit.

3.l RAAMLetoll cavaul cull Aol A sH ULl
4, What is magnetic flux? State it's unit.

4. Jusla sesu Aed 9?7 Aol WsH LU

5.  Give name of diamagnetic material. (Any four)

S slaUN@ls UeLdell oltH Aull. (Sl ueL AR)

6. Provev=nA

6. v=m @ sA.

7. Define Snell's law.

7. @dell [ cn.

8. Write the full form of LASER.
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LASER of Y3 ol cull.

Give the difference between Transverse & Longitudinal wave.
AOOLA dAR0L el AdLA AR ARl AE AUR 83,

Give S.I. unit of (1) Force (2) Pressure

S ASH AL (1) (ol (2) €0l

Sketch a neat diagram of Vernier Callipers with nomenclature.
clelalR JAuAell e wus(A A 2ot UBA ERL
OR
vl
Sketch a neat diagram of micro meter screw with nomenclature.
WSS ReR goll e wsQ ot et AU ERA.
Explain Kirchoff's first law and define junction and loop.
(Bulgell UBAL [ AUl 520t WA Uoll calvall vl
OR
vl
Explain the chemical effect of current.
Qg Yatgell RAAAUBS WU UM AL

In a vernier callipers main scale calibrated in millimeter and 10 division on
vernier scale. Calculate it's L.C.

clolaR AUl Yyt B AAM2UL 2B B. Aot olwl B UR

siulell st dvall 10 B, Al doll c 12l 2.
OR
wcll

A micrometer screw has L.C 5 x 10° m. If there are 100 divisions on it's
circular scale, find pitch of micrometer screw.
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Q.3

UA. 3
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(¢)

(c)
(8)

(c)

s e 2gell dMlel 5 x 10° m 8. %l Aol dduusik B UR

siulell et vl 100 &l Al defl Yl 0.
Short note : Polarization
gsollel cull : yclletclot
OR
Al
Short Note : Applications of Laser.

gsolll AUl : AuRell GuAlol.

Explain Coulomb's inverse square law.
5Ll Rl cldloll [AauM AHstal.

OR

AUl
Write Ohm's law and explain it.
A6l M AWl wa yHAL
Write a short note on intrinsic semi-conductor.
I Adalles U gsollul AUl
OR

Al

Write a short note on applications of nano materials.

ololl UeLdoll GUalON UR gsolll cull.

Describe “Total internal reflection”.

Yol WARs URlado” YHAl
OR

Al

A wire of length 240 cm, radius 0.036 cm has a resistance of 12 Q3. Calculate
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Q.4

UAH. ¥

(8)

(d)

(S)

(d)

(S)
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the specific resistance of the wire.

As ARGl cloltss 240 cm B. Aol AUl 0.036 cm WA WARAYU 12 O
B dl Aol (Al e WK,

Three resistances of 7 Q, 12 Q and 21 Q are connected in (a) Series (b)
Parallel. Find the effective resistance in each case.

AR USRI 7 Q, 12 Q vl 21 Q A (1) ARl (2) AHIARML sl
y3leuHl wau .

OR

AL

The potential difference across a resistance of 14 Q is 35 volt. Find the
current through it.

14 Q AR UA AHIdR lo RAQHLoto dslald 35 volt 8l Al Axiedl

AR Al dlor yesall ol s

Explain magnetic field lines and it's characteristic.
Jorsla st Al AHestell Aoll ctet@s Al cvl.
OR
AL
Explain the working of N.P.N. transistor with suitable diagram.

N.P.N. 2leee{l sl €131 Aell st yeuel anestal.

A radio transmits waves of wavelength 30 m. If the velocity of the wave is
1500 km/s, find it's frequency.

As ASA 30 m ARDIAUISAL dR3le] YAWL 53 B. % Aell AL 1500
km/s &lal Al Aol wg 2.

OR

Al
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Q.5

UA. U
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In an experiment the observations are 1.3, 1.4, 1.6, 1.8 and 1.7, find out
absolute error, average absolute error, relative error and percentage error.

A5 YAl $cll WAASal 1.3, 1.4, 1.6, 1.8 3al 1.7 HAA & dl Asll
AR0at 4R, AR [ARUet 9, what YR wal yldad R 0l

Short note : Full wave rectifier.

gsalll cull : Yul dRaL AseslaR.

Explain Hystersis curve for ferromagnetic substances.
$ANARs uetedl 12 (B ds AMesAl.

Explain forward bias characteristics of P.N. junction diode with circuit
diagram.

P.N. %'53let Stallsell SlRatd ol clat@ls il As(d A& AHestall.

Compare characteristics of diamagnetic, paramagnetic and ferromagnetic
material.

SLRUNARS, WRANWRS WA 3ANWRSs ueldoll clat@ls sl

ARuHRl 53

Write down fundamental physical quantity, their units and symbol in S.I.
system.

s.1 AsH UuglQul yaed elllds AR, Aol AsH ol sl AV,

ok kK K Kok ok ok kK K
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